Biology H Meiosis Worksheet

On each of the images, label the phase of meiosis and cytokinesis.
	1.___ 


[image: image22.png]Meiosis | Meiosis Il

” @ E [
Spermaiocyta

> >
(diplod)
(a) Gamato formaten i the malo Spematds Sperm cells
(haplog) (hapioid)
—> @ — —
oo Ecg col

Pdar bodies (heploid)

diploic
{dipiac) ihaploid)

() Gamete formaton in the female




	2.___ ___
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	Now label the photographs.
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 21. A cell with a diploid number of 20 undergoes meiosis. This will produce _____ daughter cells, each with ______ chromosomes. 

22. Synapsis occurs during this phase:_ _

23 How many different possible combinations are there for a gamete if the diploid cell has 10 chromosomes (5 pairs): _______

24. Tetrads line up along the equator during this phase: ___ ____

25. At the end of meiosis I, __ daughter cells are created. These daughter cells are [diploid | haploid]. 

26. Meiosis produces what type of cells: __ _
Phases of Meiosis: 

A- Answer choices for 1-8 in the chart below and the diagrams below. Use each once for the chart and once for the diagram group:

 prophase I, prophase II, metaphase I, metaphase II, anaphase I, anaphase II, telophase I, telophase II.
	Name of Phase 
	Description 

	1. 
	A new spindle forms around the chromosomes. 

	2. 
	Spindle fibers move homologous chromosomes to opposite sides or poles of the cell. 

	3. 
	Nuclear membrane reforms, cytoplasm divides, 4 daughter cells formed 

	4. 
	Chromosomes line up along equator (not in homologous pairs) 

	5. 
	Chromosomes become visible. The nuclear envelope breaks down. Crossing-over occurs. 

	6. 
	Centromeres divide. Chromatids move to opposite poles of the cell. 

	7. 
	Pairs of homologous chromosomes move to the equator of the cell. 

	8. 
	Chromosomes gather at the poles. Cytoplasm divides, 2 daughter cells are formed. 
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B- Read each statement, and then on the line write down the phase of mitosis or meiosis that the

action occurs. IF the action occurs in both, write both. The first one is done for you

1. 2 ____________________________ homologous chromosome line up in the center of the cell

2 ______________________________ The individual chromosomes move apart.

3.______________________________ spindle fibers pull homologous pairs to ends of the cell

4. _____________________________  4 haploid (N) daughter cells form

5. _____________________________  cells undergo a round of DNA replication

6. _____________________________  The chromosomes line up across the middle of the cell.

7. _____________________________ Chromosomes become visible.

8._____________________________  sister chromatids separate from each other

9. _____________________________ 2 haploid (N) daughter cells form

10. ____________________________ Sister chromatids separate into individual chromosomes.

11. ____________________________ Nuclear envelope re-forms.

12.____________________________ spindle fibers attach to the homologous chromosome pairs

13. ___________________________ individual chromatids move to each end of the cell

14. ___________________________ The nucleolus disappears and the nuclear envelope beaks down.

15. ___________________________ Each chromosome is connected to a spindle fiber.

16.____________________________ crossing-over (if any) occurs
C- Refer to the diagram BELOW to answer the following:

1. A diploid cell in the male (spermatocyte) undergoes meiosis I and II and produces how many sperm?

2. A diploid cell in the female (oocyte) undergoes meiosis I and II and produces how many eggs? Be careful. 

3. Four cells result, but they combine to form how many eggs?

4. The three polar bodies never fully mature into eggs. They are absorbed into the largest cell. This gives the egg more nutrients to use if fertilized because it is a long journey from fertilization in the Fallopian tube until implantation in the uterus. Which cell is larger, the egg or the sperm cell?
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